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3
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question)

d{kk%&d{kk%&d{kk%&d{kk%& 12 oha12 oha12 oha12 oha Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& Hkwxksy Subject:- Goegraphy
le;%&le;%&le;%&le;%& 3 ?k.Vk3 ?k.Vk3 ?k.Vk3 ?k.Vk Time:- 3 Hours
iw.kk Z ad%&iw.kk Z ad%&iw.kk Z ad%&iw.kk Z ad%& 75757575 Maximum Marks :-  75

funs Z’k%&1]funs Z’k%&1]funs Z’k%&1]funs Z’k%&1] iz’u Øekad 1 ls 6 rd ds mRrj vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj vf/kdre 30 ’kCnksa es nhft, A izR;sd
iz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS A

 2] 2] 2] 2] iz’u Øekad 7 ls 12 rd ds mRrj vf/kdre 50 ’kCnksa esa nhft, A izR;sdiz’u Øekad 7 ls 12 rd ds mRrj vf/kdre 50 ’kCnksa esa nhft, A izR;sdiz’u Øekad 7 ls 12 rd ds mRrj vf/kdre 50 ’kCnksa esa nhft, A izR;sdiz’u Øekad 7 ls 12 rd ds mRrj vf/kdre 50 ’kCnksa esa nhft, A izR;sd
iz’u ds fy, 3 vad vkacfVr gS Aiz’u ds fy, 3 vad vkacfVr gS Aiz’u ds fy, 3 vad vkacfVr gS Aiz’u ds fy, 3 vad vkacfVr gS A

 3] 3] 3] 3] iz’u Øekad 13 ls 17 rd ds mRrj vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj vf/kdre 75 ’kCnksa es nhft, A
izR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS A

 4] 4] 4] 4] iz’u Øekad 18 ls 21 rd ds mRrj vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj vf/kdre 120 ’kCnksa es nhft, A
izR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS A

 5] 5] 5] 5] ekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS A
 6] 6] 6] 6] vko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, A

Instruction:-
1. Anwser the question No. 1 to 6 in maximum words limit 30 words.

Each question carries 2 marks.
2222. Anwser the question No. 7 to 12 in maximum words limit 50 words.

Each question carries 3 marks.
3. Anwser the question No. 13 to 17 in maximum words limit 75 words.

Each question carries 4 marks.
4. Anwser the question No. 18 to 21 in maximum words limit 120 words.

Each question carries 5 marks.
5. Map showing question no.22 in 5 marks.
6. Draw the diagram/ sketches wherever necessary.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& dksbZ nks izfl) ekuo Hkwxksy osRrkvksa ds uke fy[k, AdksbZ nks izfl) ekuo Hkwxksy osRrkvksa ds uke fy[k, AdksbZ nks izfl) ekuo Hkwxksy osRrkvksa ds uke fy[k, AdksbZ nks izfl) ekuo Hkwxksy osRrkvksa ds uke fy[k, A
Name any two famous human geographers.

iz’u 2&iz’u 2&iz’u 2&iz’u 2& ekuo Hkwxksy dk vFkZ fyf[k, Aekuo Hkwxksy dk vFkZ fyf[k, Aekuo Hkwxksy dk vFkZ fyf[k, Aekuo Hkwxksy dk vFkZ fyf[k, A
Write down the meaning of human Geography?
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iz’u 3&iz’u 3&iz’u 3&iz’u 3& vk/kqfud fodkl ds vk/kkj D;k gS \ fyf[k, Avk/kqfud fodkl ds vk/kkj D;k gS \ fyf[k, Avk/kqfud fodkl ds vk/kkj D;k gS \ fyf[k, Avk/kqfud fodkl ds vk/kkj D;k gS \ fyf[k, A
What are the basics of modern development ? Write them.

iz’u 4&iz’u 4&iz’u 4&iz’u 4& ekuo cfLr;ksa dh fo'ks"krk,a fyf[k, Aekuo cfLr;ksa dh fo'ks"krk,a fyf[k, Aekuo cfLr;ksa dh fo'ks"krk,a fyf[k, Aekuo cfLr;ksa dh fo'ks"krk,a fyf[k, A
Write down the charactristics of human settlements.

iz’u 5&iz’u 5&iz’u 5&iz’u 5& xzkeh.k cLrh ds o`Rrkdkj izfr:i dk fp= cukb, Axzkeh.k cLrh ds o`Rrkdkj izfr:i dk fp= cukb, Axzkeh.k cLrh ds o`Rrkdkj izfr:i dk fp= cukb, Axzkeh.k cLrh ds o`Rrkdkj izfr:i dk fp= cukb, A
Draw a sketch of the circular pattern of a rural settlement.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& orZeku esa bUVjusV dh mi;ksfxrk crkb, AorZeku esa bUVjusV dh mi;ksfxrk crkb, AorZeku esa bUVjusV dh mi;ksfxrk crkb, AorZeku esa bUVjusV dh mi;ksfxrk crkb, A
State the utility of Internet at present.

iz’u 7&iz’u 7&iz’u 7&iz’u 7& Hkwe/;js[kh; izns'k esa tula[;k de gS] D;ksa \Hkwe/;js[kh; izns'k esa tula[;k de gS] D;ksa \Hkwe/;js[kh; izns'k esa tula[;k de gS] D;ksa \Hkwe/;js[kh; izns'k esa tula[;k de gS] D;ksa \
The mediterranean states have low population. Why ?

iz’u 8&iz’u 8&iz’u 8&iz’u 8& LFkkukUrfjr Ñf"k D;k gS \ bls fofHkUu ns'kksa esa fdu&fdu ukeksa ls iqdkjkLFkkukUrfjr Ñf"k D;k gS \ bls fofHkUu ns'kksa esa fdu&fdu ukeksa ls iqdkjkLFkkukUrfjr Ñf"k D;k gS \ bls fofHkUu ns'kksa esa fdu&fdu ukeksa ls iqdkjkLFkkukUrfjr Ñf"k D;k gS \ bls fofHkUu ns'kksa esa fdu&fdu ukeksa ls iqdkjk
tkrk gS \tkrk gS \tkrk gS \tkrk gS \
What is shifting cultivation ? How is it called in different countries?

iz’u 9&iz’u 9&iz’u 9&iz’u 9& Lost ugj ,oa iukek ugj esa vUrj fyf[k, \Lost ugj ,oa iukek ugj esa vUrj fyf[k, \Lost ugj ,oa iukek ugj esa vUrj fyf[k, \Lost ugj ,oa iukek ugj esa vUrj fyf[k, \
Write down the differences between the swez canal and the panama canal.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& vUrjkZ"Vªh; O;kikj dh vko';drk D;ksa gS \vUrjkZ"Vªh; O;kikj dh vko';drk D;ksa gS \vUrjkZ"Vªh; O;kikj dh vko';drk D;ksa gS \vUrjkZ"Vªh; O;kikj dh vko';drk D;ksa gS \
Why is International trade necessary ?

iz’u 11&iz’u 11&iz’u 11&iz’u 11& Hkkjr dh tula[;k dks izHkkfor djus okys izeq[k rhu dkjdksa dk mYys[kHkkjr dh tula[;k dks izHkkfor djus okys izeq[k rhu dkjdksa dk mYys[kHkkjr dh tula[;k dks izHkkfor djus okys izeq[k rhu dkjdksa dk mYys[kHkkjr dh tula[;k dks izHkkfor djus okys izeq[k rhu dkjdksa dk mYys[k
dhft, Adhft, Adhft, Adhft, A
Mention any three main factors offecting the popultion of India.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& ty fo|qr 'kfDr ÅtkZ dk v{k; L=ksr gS] le>kb,Aty fo|qr 'kfDr ÅtkZ dk v{k; L=ksr gS] le>kb,Aty fo|qr 'kfDr ÅtkZ dk v{k; L=ksr gS] le>kb,Aty fo|qr 'kfDr ÅtkZ dk v{k; L=ksr gS] le>kb,A
Hydro-electric power in an inexhaustible source of energy. Explain..

iz’u 13&iz’u 13&iz’u 13&iz’u 13& fuEuk afdr ns'kk s a ds fyaxku qikr dks ljy jsf[kd vkjs[k }kjk iznf'k ZrfuEuk afdr ns'kk s a ds fyaxku qikr dks ljy jsf[kd vkjs[k }kjk iznf'k ZrfuEuk afdr ns'kk s a ds fyaxku qikr dks ljy jsf[kd vkjs[k }kjk iznf'k ZrfuEuk afdr ns'kk s a ds fyaxku qikr dks ljy jsf[kd vkjs[k }kjk iznf'k Zr
dhft, Adhft, Adhft, Adhft, A

ns'kksa ds ukens'kksa ds ukens'kksa ds ukens'kksa ds uke phuphuphuphu     Hkkjr    Hkkjr    Hkkjr    Hkkjr     ;-,l-,-    ;-,l-,-    ;-,l-,-    ;-,l-,-    ikfdLrku   ikfdLrku   ikfdLrku   ikfdLrku :l:l:l:l
fyaxkuqikrfyaxkuqikrfyaxkuqikrfyaxkuqikr
¼izfr gtkj¼izfr gtkj¼izfr gtkj¼izfr gtkj 944944944944     933    933    933    933 1029102910291029      938     938     938     938 1140114011401140
iq:"kksa es efgyk,aa½iq:"kksa es efgyk,aa½iq:"kksa es efgyk,aa½iq:"kksa es efgyk,aa½
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Show the sex-ratio of the following countries with the help of a sinple
bar-diagram

    State China  India         U.S.A.         Pakistan         Rasia

     Sex ratio
(Per thousand          944  933         1029 938 1140
      male &
    Female )

.
iz’u 14&iz’u 14&iz’u 14&iz’u 14& Hkkjr esa fofo/krk mRiUu djus okys dkjdksa dh O;k[;k dhft, AHkkjr esa fofo/krk mRiUu djus okys dkjdksa dh O;k[;k dhft, AHkkjr esa fofo/krk mRiUu djus okys dkjdksa dh O;k[;k dhft, AHkkjr esa fofo/krk mRiUu djus okys dkjdksa dh O;k[;k dhft, A

Explain the factors creating diversity in India..

iz’u 15&iz’u 15&iz’u 15&iz’u 15& ty laj{k.k vko';d gS] D;ksa \ laj{k.k ds mik; crkb, Aty laj{k.k vko';d gS] D;ksa \ laj{k.k ds mik; crkb, Aty laj{k.k vko';d gS] D;ksa \ laj{k.k ds mik; crkb, Aty laj{k.k vko';d gS] D;ksa \ laj{k.k ds mik; crkb, A
Why is water conservation necessary ? How can it be done ?

iz’u 16&iz’u 16&iz’u 16&iz’u 16& Hkkjrh; Ñf"k vFkZO;oLFkk esa 'kL;korZu dk D;k egRo gS \ foLrkj lsHkkjrh; Ñf"k vFkZO;oLFkk esa 'kL;korZu dk D;k egRo gS \ foLrkj lsHkkjrh; Ñf"k vFkZO;oLFkk esa 'kL;korZu dk D;k egRo gS \ foLrkj lsHkkjrh; Ñf"k vFkZO;oLFkk esa 'kL;korZu dk D;k egRo gS \ foLrkj ls
le>kb, Ale>kb, Ale>kb, Ale>kb, A
What is the importance of crop-rotation in Indian economy ? Explain in
detail.

vFkok vFkok vFkok vFkok (OR)

Ñf"k dks Hkkjrh; vFkZO;oLFkk dk vk/kkj D;ksa dgk tkrk gS \ lfoLrkj o.kZuÑf"k dks Hkkjrh; vFkZO;oLFkk dk vk/kkj D;ksa dgk tkrk gS \ lfoLrkj o.kZuÑf"k dks Hkkjrh; vFkZO;oLFkk dk vk/kkj D;ksa dgk tkrk gS \ lfoLrkj o.kZuÑf"k dks Hkkjrh; vFkZO;oLFkk dk vk/kkj D;ksa dgk tkrk gS \ lfoLrkj o.kZu
dhft, Adhft, Adhft, Adhft, A
Why is agriculture called the basis of Indian economy ? Explain in detail

iz’u 17&iz’u 17&iz’u 17&iz’u 17& NRrhlx<+ ds fodkl esa [kfut inkFkksZ dh egRrk ij izdk'k Mkfy, ANRrhlx<+ ds fodkl esa [kfut inkFkksZ dh egRrk ij izdk'k Mkfy, ANRrhlx<+ ds fodkl esa [kfut inkFkksZ dh egRrk ij izdk'k Mkfy, ANRrhlx<+ ds fodkl esa [kfut inkFkksZ dh egRrk ij izdk'k Mkfy, A
Throw light on the impotance of minerals in the development of
chhattisgarh .

vFkok vFkok vFkok vFkok (OR)

NRrhlx<+ ds fodkl esa dksjck rki fo|qr dsUnz dk egRo crkb, ANRrhlx<+ ds fodkl esa dksjck rki fo|qr dsUnz dk egRo crkb, ANRrhlx<+ ds fodkl esa dksjck rki fo|qr dsUnz dk egRo crkb, ANRrhlx<+ ds fodkl esa dksjck rki fo|qr dsUnz dk egRo crkb, A
Tell the significance of Korba Thermal power station in the development
of chhattisgarh.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& mRiknu ,oa miHkksDrk dks tksM+us esa ifjogu ra= dk egRoiw.kZ ;ksxnku gS]mRiknu ,oa miHkksDrk dks tksM+us esa ifjogu ra= dk egRoiw.kZ ;ksxnku gS]mRiknu ,oa miHkksDrk dks tksM+us esa ifjogu ra= dk egRoiw.kZ ;ksxnku gS]mRiknu ,oa miHkksDrk dks tksM+us esa ifjogu ra= dk egRoiw.kZ ;ksxnku gS]
le>kb, Ale>kb, Ale>kb, Ale>kb, A
Transportation plays an important role in combining production and
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consumer.  Explain..

iz’u 19&iz’u 19&iz’u 19&iz’u 19& Hkkjrh; fefV~V;ksa dh leL;kvksa dks foLrkj iwoZd le>kb, AHkkjrh; fefV~V;ksa dh leL;kvksa dks foLrkj iwoZd le>kb, AHkkjrh; fefV~V;ksa dh leL;kvksa dks foLrkj iwoZd le>kb, AHkkjrh; fefV~V;ksa dh leL;kvksa dks foLrkj iwoZd le>kb, A
Explain in detail the problems of Indian Soils..

iz’u 20&iz’u 20&iz’u 20&iz’u 20& vk/kkj Hkwr m|ksx ,oa miHkksDrk m|ksx esa vUrj Li"V djrs gq, m|ksxksa dkvk/kkj Hkwr m|ksx ,oa miHkksDrk m|ksx esa vUrj Li"V djrs gq, m|ksxksa dkvk/kkj Hkwr m|ksx ,oa miHkksDrk m|ksx esa vUrj Li"V djrs gq, m|ksxksa dkvk/kkj Hkwr m|ksx ,oa miHkksDrk m|ksx esa vUrj Li"V djrs gq, m|ksxksa dk
egRo crkb, AegRo crkb, AegRo crkb, AegRo crkb, A
Tell the significance of Industries by clearly differentiating between
‘basic industry’ and ‘consumer industry’ .

vFkok vFkok vFkok vFkok (OR)

dqVhj ,oa y?kq m|ksx dk vFkZ crkrs gq, Hkkjr esa vkfFkZd fodkl esa ;ksxnkudqVhj ,oa y?kq m|ksx dk vFkZ crkrs gq, Hkkjr esa vkfFkZd fodkl esa ;ksxnkudqVhj ,oa y?kq m|ksx dk vFkZ crkrs gq, Hkkjr esa vkfFkZd fodkl esa ;ksxnkudqVhj ,oa y?kq m|ksx dk vFkZ crkrs gq, Hkkjr esa vkfFkZd fodkl esa ;ksxnku
crkb, Acrkb, Acrkb, Acrkb, A
Write down about cottage and small-scale industries and their contribu-
tion in the economic development of India.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& NRrhlx<+ ds izeq[k ufn;ksa dk o.kZu dhft,  ANRrhlx<+ ds izeq[k ufn;ksa dk o.kZu dhft,  ANRrhlx<+ ds izeq[k ufn;ksa dk o.kZu dhft,  ANRrhlx<+ ds izeq[k ufn;ksa dk o.kZu dhft,  A
Describe the main rivers of chhattisgarh.

vFkok vFkok vFkok vFkok (OR)

NRrhlx<+ ds ou vk/kkfjr m|ksxksa dk o.kZu dhft, ANRrhlx<+ ds ou vk/kkfjr m|ksxksa dk o.kZu dhft, ANRrhlx<+ ds ou vk/kkfjr m|ksxksa dk o.kZu dhft, ANRrhlx<+ ds ou vk/kkfjr m|ksxksa dk o.kZu dhft, A
Describe the forest based industries in chhattisgarh.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft, &Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft, &Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft, &Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft, &
1-1 -1 -1 - dPN dh [kkM+hdPN dh [kkM+hdPN dh [kkM+hdPN dh [kkM+h
2 -2 -2 -2 - eSd eksgu js[kkeSd eksgu js[kkeSd eksgu js[kkeSd eksgu js[kk
3 -3 -3 -3 - Ñ".kk unhÑ".kk unhÑ".kk unhÑ".kk unh
4 -4 -4 -4 - uhyfxjh ¼ioZr½uhyfxjh ¼ioZr½uhyfxjh ¼ioZr½uhyfxjh ¼ioZr½
5 -5 -5 -5 - Hkkjr ds vR;f/kd o"kkZ {ks=Hkkjr ds vR;f/kd o"kkZ {ks=Hkkjr ds vR;f/kd o"kkZ {ks=Hkkjr ds vR;f/kd o"kkZ {ks=
Show the following in the map in India-
1. Bay of kuch
2. Mac Mohan line
3. Krishna river
4. Nilgiri Mountain
5. Highest rain fall area of India.

vFkok vFkok vFkok vFkok (OR)
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Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft,&Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft,&Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft,&Hkkjr ds ekufp= esa fuEukafdr dks vafdr dhft,&
1-1 -1 -1 - 23½0 mRrjh v{kka'k js[kk mRrjh v{kka'k js[kk mRrjh v{kka'k js[kk mRrjh v{kka'k js[kk
2 -2 -2 -2 - djkdksje njkZdjkdksje njkZdjkdksje njkZdjkdksje njkZ
3 -3 -3 -3 - eqEcbZ ls dydRrk ok;qekxZeqEcbZ ls dydRrk ok;qekxZeqEcbZ ls dydRrk ok;qekxZeqEcbZ ls dydRrk ok;qekxZ
4 -4 -4 -4 - Hkkjr dh jkt/kkuhHkkjr dh jkt/kkuhHkkjr dh jkt/kkuhHkkjr dh jkt/kkuh
5 -5 -5 -5 - xaxk unhxaxk unhxaxk unhxaxk unh

Show the following in the map in India-
1. 23½0  Nothern Langitudinal line
2. Karakoram pass
3. Mumbai to Kolkata airways
4. Capital of India
5. Ganga River.

--------X--------


